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Chapter 9

Structuring System Requirements: Logic Modeling

True-False Questions


1.
Data flow diagrams are designed to show the detailed logic of processes.

Answer:
False
Difficulty:
Med
Reference:  p. 282




2.
Structured English is useful for representing the logic in information system processes.

Answer:
True
Difficulty:
Easy
Reference:  p. 282




3.
Structured English represents the three fundamental structured programming statements:  choice, repetition, and sequence.

Answer:
True
Difficulty:
Med
Reference:  p. 282




4.
Reference, linking, and selection programming statements are represented in Structured English.

Answer:
False
Difficulty:
Med
Reference:  p. 282




5.
Decision tables allow you to represent a set of conditions and the actions that follow from them in a tabular format.

Answer:
True
Difficulty:
Med
Reference:  p. 282




6.
Data flow diagrams are adequate for modeling all of the complexity of an information system.

Answer:
False
Difficulty:
Med
Reference:  p. 283




7.
Data flow diagrams are not adequate for modeling all of the complexity of an information system.

Answer:
True
Difficulty:
Med
Reference:  p. 283




8.
Logic modeling represents the internal structure and functionality of the processes represented on data flow diagrams.

Answer:
True
Difficulty:
Med
Reference:  p. 283




9.
In the analysis phase, logic modeling reflects the structure or syntax of a particular programming language.

Answer:
False
Difficulty:
Hard
Reference:  p. 283




10.
Logic modeling is an activity associated with requirements structuring.

Answer:
True
Difficulty:
Easy
Reference:  p. 283




11.
Although logic modeling represents a process’s structure, it cannot represent the temporal dimensions of systems.

Answer:
False
Difficulty:
Hard
Reference:  p. 283




12.
In structured analysis, the primary deliverables of logic modeling are structured descriptions and diagrams that outline the logic contained within each DFD process as well as diagrams that show the temporal dimensions of systems.

Answer:
True
Difficulty:
Hard
Reference:  p. 283




13.
Logic modeling deliverables may take the form of new entries into the project dictionary.

Answer:
True
Difficulty:
Med
Reference:  p. 283




14.
For each primitive process, the analyst should develop Structured English, decision table, and decision tree representations.

Answer:
False
Difficulty:
Med
Reference:  p. 283




15.
State transition diagrams, sequence diagrams, and activity diagrams are types of logic models.

Answer:
True
Difficulty:
Med
Reference:  p. 285




16.
Structured English is a process modeling technique.

Answer:
False
Difficulty:
Easy
Reference:  p. 285




17.
Structured English is a modified form of the English language used to specify the logic of information system processes.

Answer:
True
Difficulty:
Med
Reference:  p. 285




18.
The Unified Modeling Language is a modified form of the English language used to specify the logic of information system processes.

Answer:
False
Difficulty:
Med
Reference:  p. 285




19.
Structured English relies heavily on adjectives and adverbs.

Answer:
False
Difficulty:
Med
Reference:  p. 285




20.
The standard version of Structured English is called the Unified Modeling Language.

Answer:
False
Difficulty:
Med
Reference:  p. 285




21.
If and case are two types of conditional statements.

Answer:
True
Difficulty:
Easy
Reference:  p. 285




22.
Referencing Structured English, terms that specify logical comparisons are spelled out rather than represented by their arithmetic symbols.

Answer:
True
Difficulty:
Med
Reference:  p. 287




23.
When preparing Structured English statements, the analyst includes statements to initialize variables, open and close files, and find related records in separate files.

Answer:
False
Difficulty:
Hard
Reference:  p. 288




24.
Structured English resembles a programming language.

Answer:
False
Difficulty:
Med
Reference:  p. 288




25.
Structured English is a communication technique used for analysts and programmers.

Answer:
False
Difficulty:
Med
Reference:  p. 288




26.
Structured English becomes more difficult to understand and verify as logic becomes more complicated.

Answer:
True
Difficulty:
Med
Reference:  p. 288




27.
A decision table is a matrix representation of the logic of a decision, which specifies the possible conditions for the decision and the resulting actions.

Answer:
True
Difficulty:
Med
Reference:  p. 288




28.
Condition stubs are that part of a decision table that lists the actions that result for a given set of conditions.

Answer:
False
Difficulty:
Med
Reference:  p. 288




29.
Action stubs are that part of a decision table that lists the conditions relevant to the decision.

Answer:
False
Difficulty:
Med
Reference:  p. 288




30.
Referencing a decision table, specific combinations of conditions trigger specific actions.

Answer:
True
Difficulty:
Med
Reference:  p. 288




31.
Assume condition one has three values, condition two has four values, and condition three has two values; the number of rules required for the decision table is nine. 

Answer:
False
Difficulty:
Med
Reference:  pp. 288-289




32.
Assume condition one has two values, condition two has five values, condition three has three values, and condition four has two values; the number of rules required for the decision table is sixty.

Answer:
True
Difficulty:
Hard
Reference:  pp. 288-289




33.
Rules are that part of the decision table that specify which actions are to be followed for a given set of conditions.

Answer:
True
Difficulty:
Med
Reference:  p. 288




34.
An insignificant condition is a condition in a decision table whose value does not affect which actions are taken for two or more rules.

Answer:
False
Difficulty:
Med
Reference:  p. 289




35.
In a decision table, an indifferent condition is represented by an asterisk.

Answer:
False
Difficulty:
Med
Reference:  p. 289




36.
If the different values for the employee type condition do not affect the action taken, then employee type is an indifferent condition.

Answer:
True
Difficulty:
Hard
Reference:  p. 289




37.
Referencing a decision table, a limited entry occurs when a condition has only two possible values.

Answer:
True
Difficulty:
Med
Reference:  p. 289




38.
Referencing a decision table, an employee condition that has only two possible values is considered a limited entry.

Answer:
True
Difficulty:
Med
Reference:  p. 289




39.
If an inventory item is either perishable or nonperishable, its condition is classified as an extended entry. 

Answer:
False
Difficulty:
Med
Reference:  p. 289




40.
Referencing a decision table, every possible combination of conditions must be represented.

Answer:
True
Difficulty:
Med
Reference:  p. 289




41.
Referencing a decision table, an action is provided for each rule.

Answer:
True
Difficulty:
Med
Reference:  p. 290




42.
Decision tables support nested conditions.

Answer:
True
Difficulty:
Med
Reference:  p. 290




43.
Decision tables are more useful than Structured English for complicated logic.

Answer:
True
Difficulty:
Med
Reference:  p. 291




44.
An analyst can check a decision table to determine the extent to which the logic is complete, consistent, and not redundant.

Answer:
True
Difficulty:
Med
Reference:  p. 291




45.
On a decision tree, ovals represent decision points.

Answer:
False
Difficulty:
Med
Reference:  p. 292




46.
On a decision tree, a credit granting decision is represented by an oval.

Answer:
False
Difficulty:
Med
Reference:  p. 292




47.
On a decision tree, the root node is placed on the far right.

Answer:
False
Difficulty:
Med
Reference:  p. 292




48.
From each node on a decision tree, there are at least two paths that lead to the next step.

Answer:
True
Difficulty:
Med
Reference:  p. 292




49.
On a decision tree, a rule is represented by tracing a series of paths from the root node, down a path to the next node until an action oval is reached.

Answer:
True
Difficulty:
Med
Reference:  p. 292




50.
When comparing decision tables with decision trees, decision trees are better for portraying complex logic.

Answer:
False
Difficulty:
Med
Reference:  p. 294



Multiple Choice Questions

51.
Which of the following is not a logic model? 

a.
Structured English

b.
decision tables

c.
decision trees

d. 
data flow diagrams

Answer:
d
Difficulty:
Med
Reference:
p. 284




52.
Which of the following is a modified version of the English language that is useful for representing the logic in information system processes?

a.
Structured English

b.
COBOL

c.
Unified Modeling Language

d.
pseudocode

Answer:
a
Difficulty:
Med
Reference:
p. 282




53.
A modeling technique that allows you to represent a set of conditions and the actions that follow from them in a tabular format best describes:

a.
data flow diagram

b.
decision table

c.
decision tree

d. 
Structured English

Answer:
b
Difficulty:
Med
Reference:
p. 282




54.
Techniques used for modeling process decision logic include:

a.
decision trees

b.
decision tables

c.
Structured English

d. 
all of the above

Answer:
d
Difficulty:
Med
Reference:
p. 284




55.
In the analysis phase, logic modeling:

a.
will be complete and reasonably detailed, but it will also be generic in that it will not reflect the structure or syntax of a particular programming language

b.
should not be complete and detailed; it will be generic in that it will not reflect the structure or syntax of a particular programming language

c.
should be complete and detailed, reflecting the structure and syntax of a particular programming language

d. 
should be complete and reflect the physical aspects of the system

Answer:
a
Difficulty:
Hard
Reference:
p. 283




56.
Modeling a system’s logic is part of:

a.
requirements determination

b.
requirements structuring

c.
alternative generation and selection

d.
logical design

Answer:
b
Difficulty:
Med
Reference:
p. 283




57.
The deliverables for logic modeling include:

a.
a Structured English representation of process logic

b.
state-transition diagrams

c.
decision tree representations

d.
all of the above

Answer:
d
Difficulty:
Med
Reference:
p. 284




58.
The deliverables for logic modeling would not include:

a.
decision table representations

b.
structure charts

c.
Structured English representations of process logic

d.
decision tree representations

Answer:
b
Difficulty:
Med
Reference:
p. 284




59.
A modified form of the English language used to specify the logic of information system processes defines:

a.
Structured English

b.
shorthand

c.
decision logic

d.
state-transition diagram

Answer:
a
Difficulty:
Med
Reference:
p. 285




60.
The modeling technique that relies on action verbs and noun phrases, and contains no adjectives or adverbs is called:

a.
decision logic

b.
Unified Modeling Language

c.
Structured English

d.
English pseudocode

Answer:
c
Difficulty:
Med
Reference:
p. 285




61.
Action verbs are used in Structured English to name:

a.
data structures

b.
sources

c.
processes

d.
entities

Answer:
c
Difficulty:
Med
Reference:
p. 285




62.
Which of the following is a true statement regarding Structured English?

a.
Adjectives and adverbs are used to enhance process descriptions.

b.
Noun phrases describe processes.

c.
Each analyst should use the standard version of Structured English.

d.
Structured English uses a subset of the English vocabulary to express information system process procedures.

Answer:
d
Difficulty:
Med
Reference:
p. 285




63.
Which of the following processes can Structured English represent?

a.
sequence

b.
repetition

c.
conditional statements

d.
all of the above

Answer:
d
Difficulty:
Med
Reference:
p. 285




64.
Which of the following is a difference between Structured English and pseudocode?

a.
Structured English is a communication technique between programmers and systems analysts.

b.
Pseudocode is a communication technique between analysts and users.

c.
Structured English resembles spoken English; pseudocode resembles a programming language.

d.
Actually, Structured English and pseudocode are synonymous terms.

Answer:
c
Difficulty:
Med
Reference:
p. 288




65.
Structured English requires the analyst to:

a.
note the opening and closing of files

b.
use adverbs and adjectives when describing data structures

c.
initialize variables

d.
do none of the above 

Answer:
d
Difficulty:
Med
Reference:
p. 288




66.
If several different conditions are involved, and combinations of these conditions dictate which of several actions should be taken, then:

a.
Structured English is preferred over a state-transition diagram

b.
a decision table is much clearer than a Structured English statement

c.
Structured English provides a better representation than a decision tree

d.
decision tables are less effective in presenting the process logic

Answer:
b
Difficulty:
Med
Reference:
p. 288




67.
A decision table does not include:

a.
statements

b.
condition stubs

c.
action stubs

d.
rules

Answer:
a
Difficulty:
Med
Reference:
p. 288




68.
The part of a decision table that links conditions to actions is the section that contains the:

a.
action statements

b.
rules

c.
condition statements

d.
decision stubs

Answer:
b
Difficulty:
Med
Reference:
p. 288




69.
A matrix representation of the logic of a decision, which specifies the possible conditions for the decision and the resulting actions, defines a:

a.
structure chart

b.
state transition diagram

c.
decision table

d.
sequence diagram

Answer:
c
Difficulty:
Med
Reference:
p. 288




70.
The part of a decision table that lists the actions that result for a given set of conditions is called:

a.
action stubs


b.
condition stubs

c.
rule section

d.
condition execution

Answer:
a
Difficulty:
Easy
Reference:
p. 288




71.
The part of a decision table that lists the conditions relevant to the decision is called:

a.
action stubs

b.
condition stubs

c.
condition list

d.
condition execution

Answer:
b
Difficulty:
Easy
Reference:
p. 288




72.
The part of a decision table that specifies which actions are to be followed for a given set of conditions refers to:

a.
action stubs

b.
condition list

c.
rules

d.
decision list

Answer:
c
Difficulty:
Med
Reference:
p. 288




73.
In a decision table, a condition whose value does not affect which actions are taken for two or more rules is referred to as a(n):

a.
indifferent condition

b.
static condition

c.
fixed condition

d.
flexible condition

Answer:
a
Difficulty:
Med
Reference:
p. 289




74.
If Rules 2, 4, and 6 are indifferent conditions, then:

a.
Rules 2, 4, and 6 are eliminated from the matrix

b.
the number of rules is reduced by condensing Rules 2, 4, and 6 into one rule

c.
Rules 2, 4, and 6 will result in at least two additional rules being included in the matrix

d.
Rules 2, 4, and 6 have no impact on the interpretation of the matrix

Answer:
b
Difficulty:
Med
Reference:
p. 289




75.
An indifferent condition is represented by a(n):

a.
dash (-)

b.
asterisk (*)

c.
exclamation point (!)

d.
pound sign (#)

Answer:
a
Difficulty:
Med
Reference:
p. 289




76.
Basic procedures for constructing a decision table do not include:

a.
listing all possible rules

b.
naming the conditions and the values each condition can assume

c.
identifying selection criteria

d.
simplifying the decision table

Answer:
c
Difficulty:
Hard
Reference:
pp. 289-290




77.
When condition values are either “yes” or “no”, these values are called a(n):

a.
extended entry

b.
simple entry

c.
complex entry

d.
limited entry

Answer:
d
Difficulty:
Med
Reference:
p. 289




78.
A condition that has more than two values is a(n):

a.
extended entry

b.
simple entry

c.
complex entry

d.
limited entry

Answer:
a
Difficulty:
Med
Reference:
p. 289




79.
To determine the number of rules required for the decision table, you would:

a.
add the number of values for each condition to the number of values for every other condition

b.
multiply the number of conditions by two

c.
add the number of values for each condition to the number of values for every other condition, then subtract 1

d.
multiply the number of values for each condition by the number of values for every other condition

Answer:
d
Difficulty:
Hard
Reference:
p. 289




80.
Assume we have three conditions.  Condition one has two values; condition two has three values; condition three has three values.  How many rules are needed?

a.
8

b.
6

c.
5

d.
18

Answer:
d
Difficulty:
Med
Reference:
p. 289




81.
Assume the first condition has two values; the second condition has two values; the third condition has three values.  How many rules will there be?

a.
7

b.
12

c.
6

d.
11

Answer:
b
Difficulty:
Med
Reference:
p.289




82.
Assume the first condition has four values; the second condition has two values; the third condition has two values.  How many rules will there be?

a.
8

b.
7

c.
16

d.
24 

Answer:
c
Difficulty:
Med
Reference:
p. 289




83.
A decision table is simplified by:

a.
removing extended entries

b.
removing any rules with impossible actions

c.
removing simple entries

d.
removing any rules with static actions

Answer:
b
Difficulty:
Med
Reference:
p. 290




84.
Which of the following is true regarding decision tables?

a.
Decision tables can model the relatively complicated logic of a process.

b.
Decision tables are more useful than Structured English for complicated logic.

c.
Decision tables convey information in a tabular format.

d.
All of the above are true.

Answer:
d
Difficulty:
Med
Reference:
p. 291




85.
Which of the following is not true regarding decision tables?

a.
Structured English is more useful than decision tables when modeling the complicated logic of a process.

b.
Decision tables are compact.

c.
Decision tables allow you to check for the extent to which your logic is complete, consistent, and not redundant.

d.
Decision tables can model the relatively complicated logic of a process.

Answer:
a
Difficulty:
Med
Reference:
p. 291




86.
A graphical technique that depicts a decision or choice situation as a connected series of nodes and branches is a:

a.
decision tree

b.
decision table

c.
structure chart

d.
hierarchical chart

Answer:
a
Difficulty:
Med
Reference:
p. 292




87.
A graphical representation of a decision situation in which decision points are connected together by arcs and terminate in ovals is a:

a.
state-transition diagram

b.
decision tree

c.
decision table

d.
sequence diagram

Answer:
b
Difficulty:
Med
Reference:
p. 292




88.
Components of a decision tree include:

a.
states

b.
rules

c.
decision points

d.
stubs

Answer:
c
Difficulty:
Med
Reference:
p. 292




89.
On a decision tree, decision points are represented by:

a.
arrows

b.
ovals

c.
squares

d.
nodes

Answer:
d
Difficulty:
Med
Reference:
p. 292




90.
To read a decision tree, you begin at the:

a.
top root node

b.
far-left root node

c.
far-right root node

d.
bottom root node

Answer:
b
Difficulty:
Med
Reference:
p. 292




91.
Which of the following is not true regarding a decision tree?

a.
To read a decision tree, you begin at the top root node.

b.
Each path leaving a node corresponds to one of the options for that choice.

c.
All possible actions are listed on the far right of the diagram in leaf nodes.

d.
Decision points are represented by nodes.

Answer:
a
Difficulty:
Med
Reference:
p. 292




92.
Based on the criteria of determining conditions and actions, decision trees:

a.
are considered to be not as effective as Structured English and decision tables

b.
support the process better than Structured English, but not as well as decision tables

c.
are considered to be the best technique to support the process

d.
support the process better than decision tables, but not as well as Structured English

Answer:
c
Difficulty:
Hard
Reference:
p. 294




93.
When converting conditions and actions to sequential statements, Structured English:

a.
is superior to decision tables and decision trees

b.
and decision trees are viewed as being the best techniques

c.
is rated the third best

d.
is rated second best

Answer:
b
Difficulty:
Med
Reference:
p. 294




94.

For checking consistency and completeness, Structured English was rated as:

a.
the best technique 

b.
the second best technique

c.
the third best technique 

d.
not very useful

Answer:
c
Difficulty:
Med
Reference:
p. 294




95.
For checking consistency and completeness, decision tables:

a.
were rated as second best when compared with Structured English and decision trees

b.
were rated best when compared with Structured English and decision trees

c.
were rated third best when compared with Structured English and decision trees

d.
tied with decision trees as the best technique

Answer:
d
Difficulty:
Hard
Reference:
p. 294




96.
For which of the following criteria are decision tables rated best when compared to decision trees?

a.
portraying complex logic

b.
making decisions

c.
portraying simple  problems

d.
none of the above

Answer:
a
Difficulty:
Med
Reference:
p. 294




97.
For which of the following criteria are decision trees rated best when compared to decision tables?

a.
portraying complex logic

b.
more compact

c.
easier to manipulate

d.
making decisions

Answer:
d
Difficulty:
Med
Reference:
p. 294




98.
For which of the following criteria were decision tables rated worst when compared to decision trees?

a.
more compact

b.
easier to manipulate

c.
portraying complex logic

d.
portraying simple problems

Answer:
d
Difficulty:
Med
Reference:
p. 294




99.
For which of the following criteria were decision trees rated worst when compared to decision tables?

a.
being harder to graph

b.
portraying complex logic

c.
making decisions

d. 
portraying simple problems

Answer:
b
Difficulty:
Med
Reference:
p. 294




100.
Which of the following is a true statement?

a.
Both decision tables and trees can be checked for completeness, consistency, and degree of redundancy. 

b.
The pioneers of structured analysis and design thought decision tables were best for portraying complex logic.

c.
The pioneers of structured analysis and design thought decision trees were better for simpler problems.

d. 
All of the above are true statements.

Answer:
d
Difficulty:
Med
Reference:
p. 294



Fill In the Blanks


101.
Logic modeling represents the internal structure and functionality of the processes represented on data flow diagrams.

Difficulty:
Med
Reference:
p. 283




102.
Structured English, decision tables, and decision trees are three types of logic models.

Difficulty:
Med
Reference:
p. 282




103.
Modeling a system’s logic is performed during the analysis subphase of requirements structuring.

Difficulty:
Med
Reference:
p.  283




104.
Logic modeling deliverables include Structured English representations of process logic, decision table representations, decision tree representations, state-transition diagrams or tables, sequence diagrams, and activity diagrams.

Difficulty:
Hard
Reference:
p. 284




105.
Structured English is a modified form of the English language used to specify the logic of information system processes.

Difficulty:
Med
Reference:
p. 285




106.
Structured English represents three processes typical to structured programming:  sequence, conditional statements, and repetition.

Difficulty:
Hard
Reference:
p. 285




107.
A case statement is a type of conditional statement where there are many different actions a program can follow, but only one is chosen.

Difficulty:
Med
Reference:
p. 285




108.
If and case are two types of conditional statements.

Difficulty:
Med
Reference:
p. 285




109.
Do-Until loops and Do-While loops are types of repetition statements.

Difficulty:
Hard
Reference:
p. 286




110.
A decision table is a matrix representation of the logic of a decision, which specifies the possible conditions for the decision and the resulting actions.

Difficulty:
Med
Reference:
p. 288




111.
Condition stubs are the part of a decision table that lists the conditions relevant to the decision.

Difficulty:
Med
Reference:
p. 288




112.
Action stubs are the part of a decision table that lists the actions that result for a given set of conditions.

Difficulty:
Med
Reference:
p. 288




113.
Rules are the part of a decision table that specifies which actions are to be followed for a given set of conditions.

Difficulty:
Med
Reference:
p. 288




114.
The three parts of a decision table are  condition stubs, action stubs, and rules.

Difficulty:
Med
Reference:
p. 288




115.
The rules section is the part of the decision table that link the conditions to actions.

Difficulty:
Med
Reference:
p. 288




116.
An indifferent condition is a condition in a decision table whose value does not affect which actions are taken for two or more rules.

Difficulty:
Med
Reference:
p. 289




117.
In a decision table, an indifferent condition is represented with a dash.

Difficulty:
Med
Reference:
p. 289




118.
If condition one has four values, condition two has five values, condition three has two values, and condition four has three values, then the number of rules required for the decision table is 120.

Difficulty:
Hard
Reference:
p. 289




119.
A decision tree is a graphical representation of a decision situation in which decision situation points are connected together by arcs and terminate in ovals.

Difficulty:
Med
Reference:
p. 292




120.
The two main components on a decision tree are decision points and actions.

Difficulty:
Med
Reference:
p. 292




121.
On a decision tree, decision points are represented by nodes.

Difficulty:
Med
Reference:
p. 292




122.
On a decision tree, actions are represented by ovals.

Difficulty:
Med
Reference:
p. 292




123.
When compared to Structured English and decision tables, decision trees are rated as best for determining conditions and actions.

Difficulty:
Hard
Reference:
p. 294




124.
When compared to decision tables and decision trees, Structured English is rated as third best when checking for consistency and completeness.

Difficulty:
Hard
Reference:
p. 294




125.
When compared to Structured English and decision trees, decision tables are rated as third best for transforming conditions and actions into sequence.

Difficulty:
Hard
Reference:
p. 294



Matching Questions

Match each of the following terms with its corresponding definition.


a.
rules

b.
decision tree

c.
Structured English

d.
action stubs

e. 
decision table

f.
indifferent condition

g.
condition stubs




126.
The part of a decision table that lists the actions that result for a given set of conditions.

Answer:
d
Reference:
p. 288




127.
Modified form of the English language used to specify the logic of information system processes.

Answer:
c
Reference:
p. 285




128.
The part of a decision table that specifies which actions are to be followed for a given set of conditions.

Answer:
a 
Reference:
p. 288




129.
The part of a decision table that lists the conditions relevant to the decision.

Answer:
g
Reference:
p. 288




130.
A matrix representation of the logic of a decision, which specifies the possible conditions for the decision and the resulting actions.

Answer:
e
Reference:
p. 288




131.
A graphical representation of a decision situation in which decision points are connected together by arcs and terminate in ovals.

Answer:
b
Reference:
p. 292




132.
In a decision table, a condition whose value does not affect which actions are taken for two or more rules.

Answer:
f
Reference:
p. 289



Match each of the following terms with its corresponding definition.


a.
Structured English

b.
decision table

c.
decision tree

d.
indifferent condition




133.
Modified form of the English language used to specify the logic of information system processes.

Answer:
a
Reference:
p. 285




134.
A graphical representation of a decision situation in which decision points are connected together by arcs and terminate in ovals.

Answer:
c
Reference:
p. 292




135.
A matrix representation of the logic of a decision, which specifies the possible conditions for the decision and the resulting actions.

Answer:
b
Reference:
p. 288




136.
Refers to a condition whose value does not affect which actions are taken for two or more rules.

Answer:
d
Reference:
p. 289



Match each of the following terms with its corresponding description.

a.
decision table

b. 
rules

c.
condition stubs

d.
decision tree

e.
indifferent condition

f.
action stubs

g.
structured English




137.
A matrix representation of the logic of a decision, which specifies the possible conditions for the decision and the resulting actions.

Answer:
a
Reference:
p. 288




138.
A graphical representation of a decision situation in which decision points are connected together by arcs and terminate in ovals.

Answer: 
d
Reference:
p. 292




139.
A condition whose value does not affect which actions are taken for two or more rules.

Answer:
e
Reference:
p. 289




140.
The part of a decision table that lists the conditions relevant to the decision.

Answer:
c
Reference:
p. 288




141.
The part of a decision table that specifies which actions are to be followed for a given set of conditions.

Answer:
b
Reference:
p. 288




142.
Modified form of the English language used to specify the logic of information system processes.

Answer:
g
Reference:
p. 285




143.
The part of a decision table that lists the actions that result for a given sets of conditions.

Answer:
f
Reference:
p. 288



Match each of the following logic modeling techniques with the statements that most closely describe the technique.  (Answers may occur more than once.)


a.
Structured English

b.
decision table

c.
decision tree




144.
This technique can represent all three of the fundamental statements necessary for structured programming.

Answer:
a
Reference:
p. 285




145.
Each analyst will have his or her own particular dialect of this technique because there is no standard version.

Answer:
a
Reference:
p. 285




146.
This technique enables you to represent a set of conditions and the actions that follow from them in a tabular format.

Answer:
b
Reference:
p. 288




147.
This technique is a modified version of the English language that is useful for representing the logic in information system processes.

Answer:
a
Reference:
p. 285




148.
This technique was first devised as a management science technique to simplify a choice where some of the needed information is not known for certain.

Answer:
c
Reference:
p. 292




149.
This technique models the same elements as a decision table but in a more graphical manner.

Answer:
c
Reference:
p. 292




150.
This technique divides a matrix into three parts:  condition stubs, action stubs, and rules.

Answer:
b
Reference:
p. 288




151.
Each rule is represented by tracing a series of paths from the root node, down a path to the next node, and so on, until an action oval is reached.

Answer:
c
Reference:
p. 292



Match each of the following terms with its corresponding description.


a.
limited entry

b.
extended entry

c. 
action stubs

d.
condition stubs

e.
decision table

f.
decision tree

g.
indifferent condition

h.
rules

i.
Structured English




152.
A matrix representation of the logic of a decision, which specifies the possible conditions for the decision and the resulting actions.

Answer:
e
Reference:
p. 288




153.
The part of the decision table that lists the actions that result for a given set of conditions.

Answer:
c
Reference:
p. 288




154.
Occurs when the condition values are simply “yes” or “no.”

Answer:
a
Reference:
p. 289




155.
The part of the decision table that specifies which actions are to be followed for a given set of conditions.

Answer:
h
Reference:
p. 288




156.
The part of a decision table that lists the conditions relevant to the decision.

Answer:
d
Reference:
p. 288




157.
Occurs when the condition values are more than two.

Answer:
b
Reference:
p. 289




158.
Modified form of the English language used to specify the logic of information system processes.

Answer:
i
Reference:
p. 285




159.
This occurs when a value does not affect which actions are taken for two or more rules.

Answer:
g
Reference:
p. 289




160.
A graphical representation of a decision situation in which decision points are connected together by arcs and terminate in ovals.

Answer:
f
Reference:
p. 292



Essay Questions


161.
Briefly identify the deliverables from logic modeling.

The deliverables for logic modeling (discussed in this chapter) include a Structured English representation of process logic, decision table representation, and decision tree representation.  Structured English is a modified form of the English language used to specify the logic of information system processes.  A decision table is a matrix representation of the logic of a decision, which specifies the possible conditions for the decision and the resulting actions.  A decision tree is a graphical representation of a decision situation in which decision points (nodes) are connected together by arcs and terminate in ovals.  




162.
Briefly discuss how to select among Structured English, decision tables, and decision trees.

The selection of the appropriate technique depends on the task you are performing and the purpose of the technique.  Decision trees are considered the best technique for determining conditions and actions, transforming conditions and actions into sequence, and checking consistency and completeness.  Structured English is the best choice for transforming conditions and actions into sequence.  For determining conditions and actions, Structured English is rated second best.  For checking consistency and completeness, Structured English is rated third best.  Decision tables are rated best for checking consistency and completeness.  Decision tables are rated third best for both determining conditions and actions and transforming conditions and actions into sequence.  Table 9-2 in the text can be referenced to support this answer.  Decision tables and trees are easily checked for completeness, consistency, and degree of redundancy.  Decision tables are more compact and easier to manipulate than decision trees.  While decision trees are better for representing simpler problems, decision tables are best for portraying complex logic.




163.
Briefly discuss modeling logic with Structured English.

Structured English uses a subset of the English vocabulary to record information system process procedures.  Processes are named with action verbs; data structures are named with noun phrases.  Adjectives and adverbs are not used.  Sequence, conditional statements, and repetition processes are represented by utilizing Structured English.  The structured part of Structured English mimics the indentation format utilized in programming languages.  Initializing variables, opening and closing files, and finding related records in separate files do not require notation.  While Structured English is used as a communication technique for analysts and users, pseudocode is the communication technique utilized by programmers and analysts.




164.
Briefly discuss modeling logic with decision tables.

A decision table is a matrix representation of the logic of a decision and specifies the possible conditions for the decision and the resulting actions.  Decision tables facilitate the diagramming of process logic when the logic is reasonably complicated.  Decision tables consist of three parts:  condition stubs, action stubs, and rules.  Condition stubs list the conditions relevant to the decision.  Action stubs list the actions that result for a given set of conditions.  Rules specify which actions are to be followed for a given set of conditions.  




165.
Identify the five basic procedures to follow when constructing a decision table.

The five basic procedures are (1) name the conditions and the values each condition can assume, (2) name all possible actions that can occur, (3) list all possible rules, (4) define the actions for each rule, and (5) simplify the decision table.



166.
What is logic modeling?  How does it differ from process modeling?

Process modeling graphically represents the functions that capture, store, manipulate, and distribute data between a system and its environment.  In contrast, logic modeling represents the internal structure and functionality of the processes found on data flow diagrams.  Logic modeling explains how these processes are performed.




167.
 An individual wishes to withdraw cash from an ATM machine.  Prepare a structured English representation for this situation.  Please note any assumptions that you make. 

A suggested answer is provided below.  For simplicity, this representation assumes that the individual performs only one transaction.

Accept Personal-identification-number

PEFORM Validate Personal Identification Number Process

BEGIN IF

IF Personal-identification-number IS CORRECT 

THEN PERFORM Withdrawal Process

ELSE PERFORM Unsuccessful Log-in Process

END IF

PERFORM Transaction Completion Process

RETURN

(Validate Personal Identification Number Process)

DO

BEGIN IF

IF Personal-identification-number IS NOT CORRECT

THEN NOTIFY user that Personal-identification-number IS NOT CORRECT AND REQUEST Personal-identification-number

ELSE RETURN

END IF

UNTIL log-in-attempt is greater than 3

RETURN

(Withdrawal Process)

ACCEPT Requested-withdrawal-amount 

BEGIN IF

IF Requested-withdrawal-amount is less than OR equal to Checking-balance

THEN GIVE Requested-withdrawal-amount in cash AND SUBTRACT Requested-withdrawal-amount from Checking-balance AND RECORD new Checking-balance

ELSE NOTIFY user that Requested-withdrawal-amount is greater than Checking-balance

RETURN

(Transaction Completion Process)

BEGIN IF

IF Cash IS GIVEN

THEN GENERATE receipt

ELSE GENERATE unsuccessful withdrawal message

ENDIF

END Transaction

(Unsuccessful Log-in Process)

Keep bank card

NOTIFY user that log-in failed

END Transaction




168.
An individual wishes to withdraw cash from an ATM machine.  Prepare a decision table to represent this situation.  Please note any assumptions that you make.

A suggested answer is provided below.

Conditions/

Courses of Actions

Rules



1
2
3

Correct User ID
Y
N
Y

Withdrawal Amount
< or = Balance
--
>Balance

Give Cash
X



Generate Receipt
X



Update Checking Balance
X



End Transaction

X
X


169.
An individual wishes to withdraw cash from an ATM machine.  Prepare a decision tree to represent this situation.  Please note any assumptions that you make.

A suggested answer is provided below.
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170.
Construct a decision tree  for the following situation.  A student can only enroll in an MIS class if the class is not full and if he has completed the necessary prerequisite course.

A suggested answer is provided below.
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